A

Notes for Lessons 11-5 and 11-6: Circles

Circumference of a circle = n(d) where d = diameter
Area of a circle = m(r®)where r = radius

Solve the following using the above equations:

1) Firnd the circumference and area of the circle with aradius of 1.5 ¢m =
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2) Fmd the radius of a pizza pan if its curcumference = 12.56 ft .
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- 3) Fmd ‘rhe diame’rer of a curcle whose area = 50.24 m?
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4)A blcycle wheei has ol dlameTer' of 60 cm. How far will lt‘rrcwel if it makes
50 r'evolu'hons (hint: you need to use the circumference)?
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B) A S]Eodf"‘sizdew.&lk is;bei‘ng- built around a circular garden. The radius of
the garden i5 10 ﬁ‘ Fmd the area of the SIdewaIk
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Length of anarc = __x__ (1 (d))
360
Area of a sector = __x__ (n(r?))
360
Where x = the angle measure of the arc and central angle

Solve the following using the above formulas.

6) Find the length of the arc and the area of the sector of thecirclewitha. ... -

“radius of 12 and central angle of 40°
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.7) The area of sector AOB is 487 and m<AOB = 270°. Find. 'the radiusof fhe__.. ... .
circle. -
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